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{.  Show the major product or products of each of the following reactions. Do not show minor
products. Be sure to show proper stereochemistry. (6 points each, 4 minute

5 each).
) /f} NOTES
o . - . . : g ’\“ ' B
N j cn ro ~OTs 15 A
' _ 1 Acetone \\___.;"”’M (\%00&. {e,@\.\li‘ﬁ i:}mqf
OTs | o N |
Me( - F{ia 3 o
b : %Q"*ﬁa‘;ﬁ:‘, Py i e, igﬁﬁ‘, )
. ) ' _ 1R &1 —
W9 heat éy’ - ):fm;;‘:.:{
2L ate
H* i fﬁ , t
O Me E Eﬂgﬁ”‘é
O !\'\f{;T c Hli‘.‘ ~ . . § o
DML \ﬁ H,0 weg
N X o ot
AR
M .
e;g t | \ excess HBr O OH
Ch. | s
S




2. (Sive the reagent or reagenis necessary 10 accomplish each of the following transformations.
Number each step so it 18 clear when reagents must be added together or separately. Do not

show intermediates. (7.5 points each, 5 minutes gach)
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3. Give the reagent of reagents neces
transformations. Any needed carb
(7.5 points each, S minutes each)
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sary to accomplish each of the following synthetic
on based reagents are allowed. Show all intermediates.
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5. (12 points, & minutes)
a. The following energy diagram depi
reaction. Use the Hammond Postulate to explain what is known about the stru

trangition state Tor this reaction.

cts energy versus reaction progress for an E2 elimination
cture of the
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b. How would the energy of the fransition state to form product A be different than the energy

of the transition state to form product B?
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